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B o LarTrgi0 18,007, [3882036] -

The sun ks 25% above the horizon. Find the length of & shadow cast by a building that is 100 feet tall (see figure). (Round your answer to
two decimal places. )
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15, + O/ points LarTrig10 1.8.022. [3882406]

An observer in a lighthouse 350 feet above sea level observes two ships directly offshore. The angles of depression to the ships are § =
27 and @ = 3.5° (see figure). How far apart are the ships? (Round your answer to one decimal place.)
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I got the 3.5 and 2 mixed-up. SHOULD be 3.5 and 2, not 2.5
and 3 in the calculation, above! Sheesh.
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calculator. (Do not enter your answers with degree symbols, Enter your answers as comma-separated lists.)
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LarTrigl0 1.4.002, [3831642]

Find two solutions of the eguation. Glve your answers In degrees (0° £ 8 < 360°) and In radlans (0 £ & < 2m). Do not use a
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